REE
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S I5H 2 | B | BfEA) | €5

1|1ovTEYE -3 580,000 580,000
2;BY BIEMTER 1 R 60,000 60,000
BYEBEMRTE 11 =K 130,000 130,000
AHRAITS2a 11 & 390,000 390,000
5|7 R E%E 1 R 55,000 55,000
6|7T aRBETE 11 =K 155,000 155,000
175vakei 1 R 90,000 90,000
8| R MiE(T1ESE 11 =K 65,000 65,000
I ReMERTE 11 =K 65,000 65,000
10| EHE 1 R 30,000 30,000
N HBEREE 50| m 2,000 100,000
12| RIGERE 11 = 280,000 280,000
13— EHE 11 =K 180,000 180,000
14JHER 218,000
& &t 2,398,000
15[>—IL 3] & 8,000 24,000
16;HER 2,400
& i 26,400
BEaE 2,424,400

<BHR>
1B & 2,400,000
2|Banaii® 24,400
=1 2,424,400




